HENEREREHES
SHM4F10H14H (£)

Mt

€:3=2) (BT ¢ kg )
FRSETELE BiEE W =2 = B Z 1B fm &

SHE 21% T 581.5 389 21
IHIX 5,513.0 128 26
JUH LA 528.0 1,361 20
LSHLA 500.7 756 23
TFELSH LA 556.8 1,098 181
SEHLA 1,295.3 359 20
THLA 354.8 719 261
HSRHLA 24.0 50 21
ELoO 25.3 209 20
75S 43.8 250 31
P CANSE L 29.1 51 23
FAALY 131.1 1,719 150
TIAYVTAF % 177.6 371 20
F7>a 1,664.2 770 105
HFHIS 749.8 55 20
CINT % 34.3 440 51
THLY 33.3 5,820 659
Ve INY 22.5| 36,669 | 13,500 |G 2
HH=EA 44.2 269 20
A A 186.2 459 20
IAXHYT 344.8 1,212 40
o 31.5 5,454 2,220 |0 "

e

12,871.8




[f¥fa] (BT ¢ kg )
TRETRAE =V H =2 = 1B Z & M =
SHEE 21% ZILAA T 893.8 758 329
ZILAA 58 1,685.0 6,250 2,189 ﬁf“m
1 c/s
YUAH 704.2 560 254
UL H5E 140.0 4,293 1,389 ﬁfzm
1 c/s
=x47 31.8 789 150
£ T 4,182.1 701 31
FEF~< T 112.3 1,600 1,000
aitus 20,621.0




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
EEXRIFE 482 |E5 X 72.5 2,696 200
AASIHLA 33.0 1,300 640
HFHEIS 22.9 34 20
> up YAVIN 43.2 1,943 1,400
dE>HAN 29.1 230 20
ROARD 26.5 1,834 39
HY= 431.1 2,000 450
finERiE 38 > A 17,677.5 802 420
BHE 72 HRwFHA 2,083.8 633 280
#]D 27 JU 33.0 419 150
he 198 EXTVYVRS 343.3 211 100
ait#E 20,723.4




[(&£) (BT ¢ kg )
JRETELE n = = 1B Z 1B B &

SHEE 21%

Egjamw 1,053.4 3,100 500

#]D 27& 278.4 3,300 1,500

he 198 780.8 2,650 1,200

2,112.6




